Morning Session

Q1. was the military commander who conducted the Jallianwala Bagh
massacre in April, 1919.

A. General Peter Bailey B. General James Neill

C. General Samuel Hickson D. General Reginald Dyer

Q1. a5 Afeh Fast o Fwa arite 1919 # sfdiareT awT avEeR 1 amatee R ar
A, SR dre a& B. So{e IF9 e

C. Sieiter ¥ fRowa D. S=ita {AAT68 3R

Q2. In July 2017, has been appointed the coach for the Indian men's cricket
team.

A. Anil Kumble B. Virendra Sehwag

C. Ravi Shastri D. Tom Moody

Q2. [T 2017 #, N AT T5W Brde W 1 Fra e R )

A. 3 Fae B. 91 wgamr

C. 3 e D. eA 73

Q3. Which of the following rivers does NOT flow into the west part of India?

A. Narmada B. Periyar
C. Krishna D. Tapti
Q3. =# ¥ Fla W A& T F aRaH s A A qwh 2

A. e B. YRR
C. g=om D. areelt

Q4. The scheme of the Union Government that provides crop insurance is

A. Pradhan Mantri Fasal Bima Yojana B. Pradhan Mantri Awas Yojana

C. Pradhan Mantri Garib Kalyan Yojana D. Pradhan Mantri Jan Aushadhi Yojana
Q4. 2 TFR 1 A= § Y FOT AT V2= FEG B

A. SUTFAS FHA AT TS B. WA 3TaTH Arster

C. TUT=THAT IE FHoAToT AISTar D. TuTAHAT S Wi Arsrer
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Q5. What did Lord Krishna preach before the start of Battle of Mahabharata?

A. Srimad Bhagawatha Purana B. Bhagawad Gita
C. Isavasyopanishad D. Aditya Hridayam
Q5. HEWRA I 931§ YT 814 & Yga HarT F0T & F41 39Sy feam ar?

A. AIAE SrTEe IoT B. #mrag Jitar

C. $maredfang D. anfecT gegH
Q6. was defeated in the second battle of Tarain.

A. Prithviraj Chauhan B. Mu'izz al-Din
C. Govind Tai D. Jayachandra
Q6. aud Hrgud vz A gr v Ay

A. AT et B. #ES 3-8

C. Mfdg ar$ D. sHg

Q7. Which amongst the following is the largest Harappan site in India?

A. Rakhigarhi B. Bhirana
C. Banawali D. Kunal
Q7. 39# ¥ Fl7, HRa # FaW 73 §3°UT TAA 82

A, TEETé B. =
C. garelr D. Fomel

Q8. Match the battles and the years and mark the correct option.

Column| Columnll
A | The First Battle of Panipat | 1556
B | The Second Battle of Panipat Il 1761
C | The Third Battle of Panipat 11 1526
A. A-II, B-1II, C-1 B. A-11I, B-1, C-I1
C. A-1, B-I, C-1II D. A-I, B-III, C-II
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Q8. @318 X a¥ &1 fAee ¥ 3K 7 ATy 1 Rfgaa &M

o | e |
A | areilag #T ggelt 55 | 1556
B | arfiaa $r gudr @is1s I | 1761
C | urehiua $r el o5 | 1526
A. A-1I, B-1II, C-1 B. A-III, B-I, C-1I
C. A-1, B-1I, C-III D. A-I, B-III, C-II

Q9. Which is the 224 district of Haryana?

A. Rohtak B. Palwal
C. Charkhi Dadri D. Mewat
Q9. gfaron #1 227 foren #er a1 #2

A, Jgas B. ydgd
C. =dr gl D. Aard

Q10. Which international woman wrestler is appointed as Deputy Superintendent of Police
(DSP) in Haryana?

A. Geeta Phogat B. Sakshi Malik

C. Babita Phogat D. Babita Kumari

Q10. ¥ Fawursdry #fgan Tgarara H ghamn # Bed guiEde 3w gfew (Soa.dr.) Pgea B g?
A. 3ar e B. wieh afas

C. Fdiar BEe D. serar FA

Q11. Who is the famous badminton player from Haryana?

A. Sania Mirza B. Yuki Bhambri
C. Saina Nehwal D. P.V. Sindhu
Q11. gfmon i ufdg dsfiea e sta &2

A. arferar st B. g stiady

C. T3 Agard D. . &r. fay
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Q12. Haryana Government has recently announced pension scheme for journalists,
including a Rs 10,000 monthly pension scheme, for those who are above 60 years and have

completed years of service in the profession.

A. 30 B. 25

C. 20 D. 10

Q12. fEmn TR A g1w & ¥ TERI F e Juer Faen H awon £ §, S 10,000 393 Hf TdF a7
Ao, wamaris R Pefisneo afaafRsdaaad _ smqus g
A. 30 B. 25

G20 D. 10

Q13. Bheem Award carries the cash prize of rupees.

A. 2 lakh B. 3 lakh

C. 5 lakh D. 1 lakh

Q13. shw wEaR # I FT A6g TSR WA

A 2 W@ B. 3 a@

C. 5@@ D.1+d%

Q14. Who founded the Bhiwani Boxing Club?

A. Bhupinder Singh Huda B. Jasjeet Kaur
C. Vijendra Singh D. Jagdish Singh
Q14 forarh FaFarsh Faw i vy Fea # 4?2

A. it i geer B. SrESid R

C. o g D. Srérer fg

Q15. Which weekly magazine was launched by Pt. Neki Ram Sharma?

A. Sandesh B. Patrika

C. Samvad D. Samvedna
Q15. 4fd A TH ganT o arcaries afien &1 A wn ar?
A, | B. af¥er

C. garg D. HagaT
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Q16. Which script is written on Ashoka Stambh?

A. Devnagri B. Brahmi
C. Gupta script D. Urdu
Q16. % Farw W fFw A & fora r 2

A, SEARTY B. {rgdr
C. Irea fafy D. 3¢

Q17. Majjhima Nikaya and Divyavadana literature carry information regarding Haryana.
They are literature.

A. Haryanavi B. Bengali

C. Jain D. Buddha

Q17. mig A= 3k Remagm wftew # ghamon & et swsd @1 2 e ¥
A. gfgrordt B. gamell

C. 3= D. stg

Q18. Who among the following has made significant contribution to Haryanvi comic poetry?

A. Sunil Grover B. Surendra Sharma
C. Satish Kaushik D. Manish Joshi Bismil
Q18. frrfafa # ¥ Reegla g e wfar # Ageayet Avre= Rar §2
A. gelre e B. gl

C. s S D. Hey Seh afEae
Q19. Haryana has main geographical features.

A. Five B. Four

C. Eight D. Seven

Q19. R & #Eg shnfas fdvar &)

A. 9 B. IR

C. HlS D. |1
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Q20. Aravalli ranges run on the part of Haryana.
A. North west B. East

C. North east D. South west
Q20. rael gaaset ghamon & e & Rua #1

A. 3ea 9REH B.gd

C. 3eeR @@ D. gféyur afiRes

Q21. Which of the following state is situated on the north of Haryana?

A. Himachal Pradesh B. Rajasthan
C. Uttar Pradesh D. Punjab
Q21. gREn ¥ 3eax A g ¥ Fhar W Usw Rya 2

A. TS S B. TS
C. Jeak w2l D. vaa
Q22. River Yamuna flows on boundary of Haryana.
A. Eastern B. Western
C. Northern D. Southern
Q22. ghamn HrAT 9T T A awed g

A. qdt B. ufRaf

C. 3eall D. gférofr

Q23. Haryana lies between the latitudes of

A. 25° 38' to 30° 35' B. 27° 37' to 37° 36'
C. 24° 28' to 30° 36' D. 27° 37' to 30° 35'
Q23. ghmn Frarreit & g Rua #)

A. 25° 38' & 30° 35' B. 27° 37' & 37° 36
C. 24°28' & 30° 36' D. 27° 37" & 30° 35'
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Q24. Who is the constitutional executive head of India?
A. President of India B. Governor

C. Union Minister D. Prime Minister
Q24. 3@ & FuTTE ST wHE T §2

A. A & Isgafa B. I=gurel

C. &g # D. T

Q25. Who among the following appoints the Chief Justice of Supreme Court?

A. Vice President of India B. President of India

C. Prime Minister of India D. Home Minister of India
Q25. Fiw FK & HEw =y # Pl a w2

A. #RE F ISt B. #RT & Tsgafed

C. HRd & JurerHar D. ¥Re & IEHA

Q26. Which of the following amendment was passed during the period of emergency?
A. 43rd amendment B. 40th amendment

C. 42nd amendment D. 45th amendment

Q26. ITTaET #1 AW F R sAR A Pl 7 WAy i fwr =T 912

A. 43a1 gt B. 40ar @it
C. 42a7 HaiTer= D. 45ar @ae
Q27. Haryana ranks in cattle breeding in India.

A. Third B. First

C. Second D. Fifth

Q27. ¥Rd # 9 ot # gRAon T W8I

A, drEx B. 9gar

C. qau D. gierar
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Q28. Haryana Board of Education is situated in which district?

A. Bhiwani
C. Gurgaon

Q28. ghamon fnew @12 frw o & Rua 82

A. fBaEt

C. I

B. Rohtak
D. Ambala

B. Iga=s

D. HFETar

Q29. Virendra Sehwag started "Sehwag International School” in , Haryana.

A. Sonipat
C. Rohtak

Q29. #ig wgarT A gRIN F
A, ®ETa
C. Uga=s

Q30. Pick the odd one out:

Wood, Table, Chair, Cupboard
A. Wood
C. Chair

Q30. HHIT FT I4A F1:
awd, e, T, A
A. oS
C. FH

Q31. Find the analogy.

DOG : GOD :: LEAP :
A. PEEP
C. PEAL

B. Rewari
D. Jhajjar
H "HEA ST T U R
B. @y
D. &5

B. Table
D. Cupboard

B. gad
D. e

B. PAEL
D. EALP
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Q31. AT §&l

DOG : GOD :: LEAP :
A. PEEP B. PAEL
C. PEAL D. EALP

Q32. Find the missing number.

8, 13, 23, 38, 58, ?

A. 53 B. 61
C.72 D. 83
Q32. Iueyd H&dl A H

8, 13, 23, 38, 58, ?
A. 53 B. 61
C.72 D. 83

Q33. If ROSE is written as OLPB. What will be code for LILY?

A, IF1V B. IVIF

C. FIIV D. FIVI

Q33. 3t v= Fiz 591 # ROSE #! OLPB f&r@ arar § aY LILY &) =1 & sreen?

A. IFIV B. IVIF
C. FIIV D. FIVI

Q34. Shikha is 5 years younger than Shalu. Four years later, Shalu will be twice as old as
Shikha. Find the present age of Shikha.

A1l B. 2
C.3 D.4

Q34. fran, e ¥ 5 ¥ VXA §| IR Wi a1e, AT FY 37 Rr@ww i 37 F o g s Rrar A adE= 3w
freret 2

Al
G 3 D. 4
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Q35. Which of the following statements about probability are true?

A.0>P(E) <1
CO<PE)>1

Morning Session

B.O<P(E)<1
D.O=P(E)>1

Q35. THTTAT & I ¥ Arafaf@a avdeal # ¥ sl o aoasw gcg 87

A.0>P(E)<1
CO0O<PE)>1

Q36. What percent of 10000 is 2?

A. 0.5%
C. 0.02%

Q36. 10000 1 FFaen gfaera 2 gen?

A. 0.5%
C. 0.02%

B.0<P(E) <1
D.0>P(E)>1

B. 0.005%
D. 0.002%

B. 0.005%
D. 0.002%

Q37. The profit made by selling a clock was Rs.1200. Find the selling price of the clock if it
was sold at double the cost price.

A. Rs.2300
C. Rs.1400

B. Rs.2000
D. Rs.2400

Q37. T w3l d° W 1200 F9Y W1 g3l I W F F7 #ew F WA Frd W dan a3 a1 a wdt w1 R wea

et ar?
A. 2300 9

C. 1400 T4

Q38.
A. Celsius

C. Kelvin

Q38.
A. ofcoaw
C. ¥feas

B. 2000 9

D. 2400 93

is NOT the unit of temperature.

v Y g A 8

B. Fahrenheit

D. Pascal

B. BI=EIST

D. yre=hdl

Page 10 of 34



AN

Adv. No. 06/2016 Cat No. 29, Tracer (Agriculture Department Haryana)
Morning Session

Q39. The full form of LPG is

A. Liguefied Petroleum Gas

C. Liquefied Polymer Gas

B. Low Petroleum Gas

D. Low Phosphorus Gas

Q39. va. 9.0, & qu A gl

A. RfFawes deifaas dw B. =i Yeiferas 3w

C. RfFawEs gffeat A D. & SIERRY Ay

Q40. is the branch of agriculture that deals with the breeding and raising of

livestock.
A. Animal husbandry

C. Livestock training

B. Domestic agriculture

D. Animal farming

Q40. FTY 1 T § S IYu & v 3R grea-geor J FE il 2
A. SRI9TEA B. =

C. wRpereT Sfvevor D. oy Ff¥

Q41. is the synonym of "COMMOTION".

A. Quite B. Calm

C. Peace D. Uproar

Q42. is the antonym of "PROBLEM".

A. Disease B. Solution

C. Painful D. Risky

Q43. Identify the meaning of the idiom,

"Above all."
A. Presently
C. Mainly

B. Speedy
D. Properly
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Q44. The sentence given below may contain one or more mistakes. Identify the correct

sentence.

"On way to home, I meet Meera and her daughter."

A. On my way to home, I met Meera and her

daughter.

C. On way to my home, I met Meera with her

daughter.

B. On my way home, I met Meera and her
daughter,

D. On my way to home, I met Meera and the
daughter.

Q45. Complete the sentence by choosing the correct word.

The documentary on the war was misleading but the book was

A. accurate

C. very short

Q46. #Hrr ford@ wreg F1 TaTar et TaAEd|
ardy

A. gar

C. afaar

Q47. o= weg #1 Roda (Raw) 31 sasy |

SARHOT
A, 93

C. ¥ e g

Q48. A Frd #graY F1 3R 7 ward |
AT I FABT 3547

A. AFIT T gl

C. FHEE F &1

B. interesting
D. false

B. T & ST

D. X AT a1 "4l STl
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Q49.mﬁa‘mwa§aﬁraﬂnﬂ

q@r
A, T@r B. 4@
C. 9& D. 4&

Q50. Fh%ﬁﬁmma’gaaa’aﬂrﬂ

Hiam
A. :T B. i
C. s D. i3t

Q51. In Technical Drawing of small machine parts, we enlarge the actual size of the object.
This is called drawing to

A. Rules B. Scales

C. Measure D. Mapping

Q51. ¥t ¥ oR-vR R¥W! F F@-ih Rarwa #, a7 avg ¥ aafds IHR # 731 733 Ram § 5w
#1 e 81 AT B

A. Fgw B. 87

C. |9 D. AAfF0T

Q52. Which of the following is NOT a scale that is used in engineering practice?

A. Half size scale B. Full size scale

C. Reduced scale D. Enlarged scale
Q52. AR # & #l7, FREfer & v e = aren vs damn ¢ 82
A. HTE HISHR &1 YA B. gof 3R &1 dameT
C. &5 SH=r D. 931 dAm=T
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Q53. Which of the following shows objects in standard reducing proportion (Standard
Reduced Scale)?

A 1:1 B. 1:5

C.5:1 D.0.5:2

Q53. frafafla # & #la, avgat 1 A=F ~FET FquE (AEF g $arET) F R 32
A 1:1 B. 1:5

€. 5l D. 0.5:2

Q54. 5 centimetre length of line drawn on a sheet represents actual length of 5 metres. The
Representative Fraction (R.F.) is:

A. 50:1 B. 100:1
. 1:50 D. 1:100

Q54. tF tfiz o Tt 71§ 5 Féex wrh Y@ aaa # 5 ey F=h W w1 vafftes & @ ) sRfis e
(IR.Uw.) §:

A. 50:1 B. 100:1

C. 1:50 D. 1:100

Q55. The scale is used to show length in three consecutive units.

A. Diagonal B. Comparative

C. Plain D. Isometric

Q55. YA T IYART FONAR e SHEAl & da1s ) fae & fore frar s g1

A. Aot B. geeTcHS

C. gaad D. gHfAd"

Q56. To draw a perpendicular bisector of a line AB, take any radius (R) and then
draw arcs from A and B as centres such that they intersect each other.

A. Lesser than half of AB B. Equal to half of AB

C. Greater than half of AB D. Equal to AB

Q56. UF &1 AB F1 UF wFaad gans dhaa & v, TR M B (R) A A Fs
WHAAFRB #wmmﬁﬁ?aa\ﬂwq&tﬁmygﬂl

A. AB & 39 & &H B. AB & e {ed & aET

C. AB & 319 & 8= D. AB & &
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Q57. What can you say about the circle in this image?

A. Inscribed B. Outerscribed

C. Escribed D. Circumscribed

Q57. =0 Ry & Rard 3 ar g7 & e & 9 741 F7 wH §7?

A. ¥deg fear g B. arggeg Far ar g
C. afgdg forar mar & D. ufteg Faraar g

Q58. To construct a regular pentagon, we can use a combination of:

A. Set square and compass B. Protractor and compass
C. Set square and mini drafter D. Mini drafter and compass
Q58. tF PafAa vuws s & v, g1 e & Faie F1 39N # a8

A. ¥ TFareR 3R FEarw B. wreet 3R sFaw

C. 8¢ FFargy 3R A g D. fA= grwex 3R FFarE
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Q59. Refer the given image.

You can inscribe a regular within the circle.

A. Hexagon B. Pentagon

C. Triangle D. Cannot inscribe a polygon
Q59.

e v R 1 3d

AT Fea & sl vF Pt F Fadg T FFA EI
A. S B. 9@
C. fae D. U Sg3S JHcdg A€ &1 Fhell
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Q60.

Refer the given image.

The radius of the circumscribed circle is

A. half the length of the length of a side of the
regular hexagon

C. twice in length to the length of a side of the
regular hexagon

o
H 1 4
Q60. ¢
2w 71w AT & 3F)
aftag ge ¥ B |

A. Frafia weagst 1 s syon &1 dars $ e e @
C. fFaffa weagsr i v s{om 1 wars i Qe Al 8

B. equal in length to the length of a side of the
regular hexagon

D. two-thirds in length to the length of a side of
the regular hexagon

B. fafa weaior it v o[ Y waT$ F aua areh ¢
D. frafda wemror it va spom i wfars A af fers @
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g

Q61. In the given image, what can you infer about the area of AABC?

A. Area of triangle ABC; and area of triangle B. Area of triangle ABC; and area of triangle

ABC; are equal but less than area of triangle ABC. ABC; are equal but more than area of triangle
ABC.

C. Area of triangle ABC,, Area of triangle D. Area of triangle ABC; and area of triangle ABC

ABC; and area of triangle ABC are equal. are equal but area of triangle ABC: is lesser than
them.

Q61. v aiv A &, 37 AABC & ai9%d & I # &1 Avad Rwrer gaa &2

A. F3s1 ABC; &7 &1awer 3R Xes1 ABC; &1 819%d B. F¥at ABC; &1 &rawel 3R Fest ABC, & aiawer

U ¢ At F3gsr ABC & 8196 & &4 & w%#ﬁﬁrﬁgsrABcaiamﬂmﬁ%l
C. 3% ABC; &7 &13%a, Pyt ABC; &1 W iR D. Rs{sT ABC: & 819w 31K Raqst ABC &I & 9%a
f3rst ABC &1 8% &1 R AR § AT Ayt ABC, #1 856 398 F B

Q62. If you were to construct an isosceles triangle equal to the area of square which is 25
m? , then, what will be the height of the constructed triangle if its base was the same as the
side of the square?

A.5m B.25m
C.10m D.12.5m
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Q62. uﬁmzsﬁmmmaﬁtmtmwuﬂaﬁt@ﬂqammmmhlﬁﬁm
fraeh gl oy 3T IuR T4 F U F FAEE @2

A 5# B. 25 #r

C. 10 #r D. 12.5#r

Q63. Refer the given image.

Which of the triangles in this image has an area equal to the area of triangle EBD?

A. A ABE B. A EBC
C. A ABD D. A EAD
Q63.

fv v = & &)

5w = & 5w R &1 fa%e, s EBD & 890 & el 82

A. A ABE B. A EBC
c. A ABD D. A EAD
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Q64. A quadrilateral with one pair of parallel sides is:

A. Square B. Rhombus

C. Parallelogram D. Trapezium
Q64. TF SIS HAWATAT HSIHT aTelT T TGS g &:

A T B. FHAGHSA

C. FAIAHR TG D. FHeE TP

Q65. The line from the center of the pentagon to a side, intersecting the side at a 90° right
angle is .

A. Radius B. Apothem
C. Half diagonal D. Radial

Q65. TUHS & &g & WA UF {1 aF U (@1 Faal W, T 1@ 38 1 &1 90° &F FHASIT W Hred! §, 39 ¥@r
# Fed 8

A. BEr B. gy
C. Her faesot D. Ifzaw

Q66. The conic section that has two branches is

A. Hyperbola B. Parabola
C. Circle D. Ellipse
Q66. 2 araETH! AT YFAER TS _ gl

A, FfawEaa B. waeg

C. ged D. &rdged
Q67. Find the midpoint of the segment with these two endpoints (-5,7) and (7,3).
A. (6,5) B. (-2,10)

C. (2,3.5) D. (1,5)
Q67. g ar 3ifaw Rigat (-5,7) 3R (7,3) 7= @3 F1 77 g 7 a F
A. (6,5) B. (-2,10)

C. (2,3.5) D. (1,5)
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Q68. The conic section that has a directrix is ;

A. Hyperbaola B. Parabola
C. Circle D. Ellipse
Q68. U @Iar araT TN TS gar g1

A. sfaeaea B. Waaa
C. ged D. frégca
Q69. A parabola has vertex/vertices.

A. 0O

C. 2

Q69. TF Wae g # /== i &

A.0 B. 4

G2 D.1

Q70. Which of the following is NOT a type of asymptote?

A. Horizontal B. Vertical
C. Oblique D. Circular
Q70. 3a# ¥ 4, TF WHR FT HaAaeqelt =g §2

A. 8ifds B. 3taltR
C. faver D. INETHR

Q71. In a sectional view diagram, the dotted lines indicate

A. Scaled parts of a huge object B. Enlarged part of a miniature object
C_. Interior parts of hollow objects hidden from D. Plane sections of the object

view

Q71. & Fpuri Tvw YT #, Rder @ 7 et §

A. T e aFg % A A0 e # B. U% 3fa gaw avq & @97 e 1w R #°r

C. Rrs 71 &=t arel, WiEel a&3l & AR BEt A1 D. a5 & oo I
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Q72. When drawing Section lines, only the parts actually cut by the section plane are cross

hatched with a thin continuous line drawn at to the major outline of the object.
A. 45° B. 90°
C. 135° D. 60°

Q72. I YWY WHad §AY, aRaa # A% FrT ae gaR F1E I A R &, avg A v Tar ¥
o @it 7§ v gael et Y & g dtee

A, 45° B. 90°
C. 135¢ D. 60°
.\ 1 ol - ¥ o

Q73. ection A=A Cross-hatching
Refer the given image. This shows a view.
A. Half sectional B. Full sectional
C. Off-set section D. Circular section
Q73.

g T

7
7 o
Section A-A Cross-hatchang

v v R & 3@ | suA g Ramar g
A. 31 g B. qof srgsmia
C. 3I%-He HegomT D. INSATHR HeHTT
Q74. In Technical Drawing, a half section shows of the part.
A. one and a half B. one-third
C. one-fourth D. one-sixth
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Q74. aw=irdh! R=iwe A, TF ImaT IeTHTT o Y T 1
A. 3T B. = fag
C. ts dtug D. ©aal {191

Q75. When it is required to include features that are not in a straight line, the cutting-plane
line may be bent so that several planes and curved surfaces are included in the diagram.
This is

A. Full section B. Revolved section
C. Rotated section D. Offset section

Q75. == fERy & vt et F1 e Far gsar § 5 v dur Yar & ¢ § @ sea-aw e A e gwan

t ofF % gra« 3T 3% Fag! & W & afae & s ) 38 T g1

A. qOT 35eTHTeT B. IReHAT et

C. gftta srepsmer D. 3THAE 8T

Q76. When creating the isometric drawing of a cubic box, the sides of a box are drawn as
vertical lines, but all horizontal lines are drawn at to the base line.

A, 45° B. 30¢°

C. 60° D: 759

Q76. UF UAHR qFE FT FWAAAT (@RT 413 §AG, UF w1 At F LA Y@t & v F diar smar €
afva waft S st # smuR @ @ a3 @te s B

A, 45° B. 30°

C. 60° D. 75
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Q77. f
Refer the given image.

What can you infer about the axes AB, AD, and AE?

A. These are complimentary axes B. These are isometric axes
C. These are circular axes D. These are trimetric axes
C
D,
B
H
F
Q77. I
v arv R #r 3|

1T 3187 AB, AD, 3K AE % aR # 741 foreed Rea asa 2
A A F HEE B. & gafad ey &
C. ¥ MaATFR 3787 & D. & AfadT w7 &

Q78. In AutoCAD, isocircles refers to
A. Isometric Circles B. Isometric Ellipses

C. Trimetric cylinders D. Fillets
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Q78. 3irds #, FHgcal H1 Adew gar &l
A. FHEAHER gad B.mﬁ?ﬁuaéqf—\-r
C. Bfadg I= D. gfgsr

Q79. When creating an isometric projection of a cube, the faces gets foreshortened and
appear as :

A. Circle B. Ellipse

C. Rhombus D. Rectangle

Q79. UF A ¥ U&F AR VAT &1 RAAr :1d 77, g F amr 3 7 v wea § 3
# e s & @

A. ged B. g

C. gHage D. 3mad

Q80.
Refer the given image.

Which of the following lines is a non-isometric line?
A. BD B. CB
C.CD D. EF
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Q80. k
v v = & &3
farafafaa # @ sia @ @, v R-grafada g2

A. BD B. CB
C.CD D. EF

Q81. In a hyperbola, parabola, and an ellipse, the ratio between the focus and the directrix
is called .

A. Symmetry ratio B. Directrix ratio

C. Asymptode D. Eccentricity

Q81. v fawawy, Wawd, 3R vh diged #, Fa N 3k frwan & @ & srepura A Fg1 ST §1
A. FRATY 3reTarc B. fargar requra

C. HaAawadt D. fadear

Q82. You are to draw the projection of the cone that has a base diameter 50 mm, axis
height 60 mm. The F.V of the cone will be a

A. Triangle B. Circle
C. Ellipse D. Parabola

Q82. HIIH! T UF & VAT HT {WITUF a1 ¢ wd JUR &1 =aw 50 Aeaie 3R ra1 i 391§ 60
frefrefies 81 oF &1 e o g

A. RIS B. g

C. ardgea D. Wadg
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Q83. A cone of base diameter 50 mm, axis height 60 mm is cut by a horizontal section plane
which is at a distance of 35 mm from the apex. You are to draw the projection of the cone.
Refer the given image.

X |

The horizontal section plane will be at 35 mm

A. Above XY and parallel to XY B. On XY and perpendicular to XY

C. Below the apex and parallel to XY D. From the left vertex and perpendicular to XY

Q83. ot g & 35 Mrefefier i gt w Ruw v Afsr sepsmr aa # } vF oF Freaw Pwren 7 § B smur
F1 &m0 50 el 3k et 6 5ad 60 Prefiefiex ¥ 39 30 oF F VT 1 W@ diwer §) Re v Ry
1 3|

X ;

dfessmmraa 35 Ry wenm

A, XY & FAEIHR 3R XY & TR B. XY & of&ad 3R XY W

C. XY & FHiaR 3R g fiig & o D. XY & waad 3R aw Raw @
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Q84. A plane that is perpendicular to both the horizontal and vertical plane is

A. Auxiliary Inclined Plane B. Auxiliary Vertical Plane

C. Auxiliary Horizontal Plane D. Auxiliary View Plane

Q84. ts aw It Afasr IR Fear AT aal W dwaa P §, 3@ g1 STt g1
A. TETTS HawTd dol B. Hg/g® AR del

C. "gras &8s ad D. HgTI& T2 ad

Q85.

Refer the given image that shows the sectional top view of a solid.

Which of the following is NOT TRUE about the given image?

A. A square pyramid stands on its base on H.P. B. A rectangular pyramid stands on its base on
V.P.

C. A section plane L to V.P bisects the axis of D. A section plane L to V.P. and inclined to H.P.

pyramid. bisects the axis of pyramid.
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Qs85.

frw 1w R # 3 rwe v W ¥ s o T Y R w1

v v R & an & = # ¥ Fa a1 suw 7 7 22

A. T T RUfAs, H.P. 9T 39y 31U 9Y @37 & B. U& 3&garsR BRIfAE, V.P. 9T 394 YR 9T @7 B

C. V.P. ®¥ L U 379797 o, Rraffs & et D. V.P. X L 3R H.P. T 3aeTd U T80T e,
gfasniara &itar 8 RfRz & 367 & gfasniaa Fwar g1

Q86. An oblique solid hasitsaxis___________ to the base.

A. Inclined B. Parallel

C. Horizontal D. Any of the above

Q86. UF fad 31N F1 3787, HUR W grar &

A. g B. FHIR

C. &fas D. 3RFd # ¥ F12 o

Q87. The shape resulting from a vertical cross section of a solid cylinder will be:

A. Circle B. Ellipse

C. Rectangle D. Parabola

Q87. UF 31 da & FLATUT IR 3T & ROy e arel srpfa g
A. ged B. &réiged

C. 3ad D. Waag
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Q88. A prism is a polyhedron with parallel, congruent base(s).
A. One B. Two

C. Four D. Six

Q88. i A m,ummmﬁmmigmtl

A. TH B. g

C. 9 D. &:

Q89. The obverse of an orthographic projection is projection.
A. Parallel B. Perpendicular

C. Oblique D. Multiview

Q89. % rufaiss NSFAUF FT AT Qe E

A. AT B. F=ad

C. fawor D. sgeed

Q90. A hexagon has sides 's' centimetres and 'h’' being the distance between the centre of
the hexagon to its side. This hexagon needs to be replaced with a triangle having the same
area. The height of the triangle drawn will be:

A. h B. 2h

C. 4h D. 6h

Q90. TF eI F 3t Y FwaS 's' WX 3N YO F F7 v 3@ Tl F 1w H gl 'h' T IW v
STE TF WA SAG AT UF XS a1 3W Payer A Fang R g

A. h B. 2h

C. 4h D. 6h

Q91. Which one of the conic section has a directrix?

A. Parabola B. Hyperbola
C. Circle D. Ellipse
QO1. &g F W T # v Frra gl ¥2

A. qiEed B. yfauwasa
C. ged D. &rdged
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Q92. In orthographic projection, if you need to project the top view, then the view is
projected on the plane.

A. Vertical B. Horizontal

C. Inclined D. Base

Q92. 3rufanfrs Watwasr #, afE ofd e &Y VT FTar &Y aY 39 g F o« 9 Wiotge R
ST g1

A. 3EETER B. &ifast

C. 3{gad D. AR

Q93. According to Principles of Dimensioning, a dimension line should never coincide with a

line.
A. Vertical B. Horizontal
C. Center D. Radial

Q93. I F ReTdl F FTAR, TF IAH @1 F el oft v Y @ 78t e mike)

A. 3T B. aifas

C. #g D. =

Q94. You have to show the contours of complicated shapes, such as the wings and fuselage

of an airplane, in your drawing. Since the parts have continuously varying shapes, you
should use the .

A. Aligned section B. Full section

C. Revolved Section D. Removed section

Q94. 3T vt Yafw # aftw snghrat A1 woar Rt ¥, SR v e & v AR aran) S se st
FMaR Ber-Mew srwfaat g § sufae ot &1 3YLANT FIAT TR

A. Tf&E s B. qoT 3iegamar

C. aRefAa sresmr D. fsifla srgsmer
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Q95. Identify the rules for cross-hatching.

Rule 1: Use a series of parallel lines (type B) drawn at 45 degrees and evenly spaced about
3mm apart.

Rule 2: Do not draw hatching lines parallel to one or more sides of the object. Use another
angle.

Rule 3: Adjacent parts that that are assembled together have the hatching lines running in
opposite directions.

A. Rule 1 and Rule 3 only B. Rule 2 and Rule 3 only
C. Rule 1 and Rule 2 only D. Rules 1, 2 and 3

Q95. HiE-2RT & AuaAl N ggaw|

g 1: 45 Bt 91 3R vF wEE w9 & Fener 3 R 1 g W & 71§ wAea W@t (e B) f1 vE
ST FT TAT FY|

e 2: awg A1 o 71 70 et & AR §1Re YEe & @i gEy T F 39E

fa# 3: vs w1y vehia Awcad! st # $Re Yaw Rada Rt # s §)

A, Faw a1 3R FEa 3 B. ¥aw f@a# 2 3k Ag# 3

C. Faad Faa 13k Raxa 2 D. @am1, 23k 3

Fig: Projection of Plane

0’1"Q

Q96.

The given image shows the angle of Projection.
A, First B. Second
C. Third D. Fourth
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Fig: Projection of Plane

&~ ‘ Q

Q96.
RuivRaddesua®d _ &or & REmwr gl

A, 9ga B. g&Y
C. dmY D. =it

Q97. The real or imaginary line of intersection of a plane with the HP is called horizontal
trace of the plane. HT is always located in the

A, Top View B. Front View

C. Horizontal View D. Both Top and Front views

Q97. HP & WY U&F ad & Fea $I aredias a1 FTeqfas F@T F1 ad &1 afds Freare Fg1 smar 1 HT g
# Rya @ #

A. o g B. GTHA #1737

C. 8ffas w27 D. i 3R wH= gt T

Q98. A line inclined to Vertical Plane (VP) and parallel to Horizontal Plane (HP) has
trace and no trace.

A. Horizontal, Vertical B. Vertical, Horizontal

C. Horizontal, Inclined D. Inclined, Horizontal
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Q98. ItaTux ad (Ifewa Toe 1 VP) W Ia1a 3K &ifas o« (§itsiieed i 91 HP) & §ATcR v @ &

e g Ik FE foremer 7€t gar &1
A, Fearay, Sfas B. &ifaw, Featw
C. 8fas, 3maa D. 3a=q, &fas
Q99. A revolved section is made by revolving the cross-section view about an
axis of revolution and superimposing the section view on the orthographic view.
A, 45 degrees B. 60 degrees
C. 90 degrees D. 180 degrees
Q99. Irufmfea Tva T FgHTT Ted F FARERiT FF 3R TRFAOT 3747 ¥ IR-37TH T F FAHA
AT U IR A Fegsmar AR R sirar )
A. 45 faah B. 60 &3t
C. 90 f2air D. 180 i
Q100.A________ section allows the drafter to create a Cutting Plane line which is not in a
straight line across the part.
A. Full B. Half
C. Offset D. Broken out
Q100. T& FHAHTT FIFE HT T Hel-FHAS 10T TIR FA A FaAfa 3ar ¢ s @ 5mr # o @ehh T
# el 1
A. ot B. 31
C. Hmae D. @fEa
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